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Subtract the expressions.

2 _ _x
x+1 3x+3

They don't have a common denominator, so

2 _ X you must factor the denominators
x+1 3(x+1)

3(2) — X The common denominator is 3(x + 1)
3(x+1) 3(x+1) Multiply the first fraction by 3 to

complete its denominator

Multiply 3(2) and subtract the fractions
Nothing will reduce or cancel
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Add the expressions.

x - 10 n x+3

x2+2x - 24 x+6
Factor the denominators since
x-10 _l_ x+3 they don't have a common denominator
(x+6)(x-4) x+6
x - 10 _l_ (x - 4)(x+3) (x + 6)(x - 4) is the common
(x+6)(x-4) (x - 4)(x +6) denominator. Multiply the
second fraction by (x - 4) to
complete its denominator
x-10+x2-x-12 Multiply (x - 4)(x + 3) and combine
(x+6)(x-4) the numerators.

Combine like terms. Nothing will
reduce or cancel.
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Add the expressions

3x2-5 x+8
3x2-12 3x+6
Factor the denominators since
3x-5  _ _x+8 theydon't have a common denominator
3(x-2)(x+2) 3(x+2)
3¢-5  _ (x-2)(x+8) 3(x-2)(x+2)is the common
3(x-2)(x+2) 3(x-2)(x+2) denominator. Multiply the

second fraction by (x - 2) to
complete its denominator

3x2-5-x*-6x+16 Multiply (x - 2)(x + 8) and combine
3(x-2)(x+2) the numerators.

Combine like terms. The
numerator won't factor. Nothing
will reduce or cancel





